
Question -1) Which of the following best expresses the main concern of the author regarding
the delay in conducting the Indian Census?

A) The delay in the Census could lead to inaccurate data collection, affecting large-scale surveys.

B) The delay shows a lack of commitment to political transparency.

C) The delay in the Census could undermine the government's efforts to promote economic growth.

D) The delay in conducting the Census is a result of political instability in the country.

Question -2) According to the passage, why is it naive to think of an alternative to the Census?

A) Alternatives to the Census are difficult to implement due to political opposition.

B) The Census provides a comprehensive understanding of demographic changes, which alternatives
cannot match.
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C) The Census is constitutionally mandated, making alternatives illegal.

D) Alternatives to the Census are costly and inefficient.

Question -3) The author mentions that a "caste Census" is being raised for political purposes.
What is the implication of this statement in the context of the passage?

A) The caste Census is necessary to ensure equal representation of all castes.

B) The caste Census is being used as a tool to divert attention from the delay in the regular Census.

C) The caste Census will provide valuable data for development planning.

D) The caste Census is essential for understanding India's demographic changes.

Question -4) What does the author imply by stating that "approximated numbers or survey-
based estimates are quite insufficient to represent changing realities"?

A) Surveys are inherently unreliable and should not be conducted.

B) The Census provides exact figures, while surveys only offer rough estimates that cannot capture
rapid changes.

C) Surveys should only be used in conjunction with Census data.

D) The government's reliance on surveys over the Census is a strategic mistake.

Question -5) Why does the author argue that delaying the Census is "irresponsible"?

A) Because it prevents the government from conducting fair elections.

B) Because it results in the lack of updated data necessary for understanding various socio-economic
changes.

C) Because it allows the government to manipulate data for political gain.

D) Because it delays the implementation of new government policies.

Question -6) Which of the following would the author most likely agree with?

A) The Census should be conducted only after a caste Census is completed.

B) The Census is essential for accurate development planning and policy-making.

C) Alternatives to the Census, such as surveys, can adequately substitute for it.
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D) The Census delay is justified given the challenges posed by the COVID-19 pandemic.
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